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ENTREPRENEURSHIP

m|ferkm|ferkm|ferkm|ferkm|ferk
Time allowed : 3 hours ] [ Maximum marks: 70

fu/kkZfjr le; % 3 ?k.Vs ] [ vf/kdre vad % 70

General Instructions :

(i) All the questions are compulsory,

(ii) Marks are indicated against each question.

(iii) Question Nos. 1 to 5 are very short answer questions carrying 1 mark
each. Answer to each of these should not exceed 15 words.

(iv) Question Nos. 6 to 10 are short answer questions carrying 2 marks
each. Answer to each of these should not exceed 50 words.

(v) Question Nos. 11 to 17 are short answer questions carrying 3 marks
each. Answer to each of these should not exceed 75 words.

Roll No.

Series SHC/1 Code No. 98/1

� Please check that this question paper contains 7 printed pages.

� Code number given on the right hand side of the question paper should be written on
the title page of the answer-book by the condidate.

� Please check that this question paper contains 24 questions.

� Please write down the serial number of the question before attempting it.

� Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa eqfnzr i`"B 7 gSaA

� iz'u&i=k esa nkfgus gkFk dh vksj fn, x, dksM uEcj dks Nk=k mÙkj&iqfLrdk ds eq[k&i`"B ij fy[ksaA

� Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa 24 iz'u gSaA

� Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ks aAÑi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ks aAÑi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ks aAÑi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ks aAÑi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ks aA

Candidates must write the Code on
the title page of the answer-book.jksy ua-

dksM ua-dksM ua-dksM ua-dksM ua-dksM ua-

fo|kFkhZ mÙkj&iqfLrdk esa dksM ua- vo';
fy[ksA
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(vi) Question Nos. 18 to 21 are short answer questions carrying 4 marks

each. Answer to each of these should not exceed 150 words.

(vii) Question Nos. 22 to 24 are long answer questions carrying 6 marks

each. Answer to each of these should not exceed 250 words.

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %

(i) lHkhlHkhlHkhlHkhlHkh iz'u vfuok;Z gSaA

(ii) izR;sd iz'u ds vad mlds lkeus fn, x, gSaA

(iii) iz'u la[;k 1 ls 5 vfr y?kq mÙkj izdkj ds iz'u gSaA buesa izR;sd iz'u 1 vad dk gSA

buesa ls izR;sd dk mÙkj 15 'kCnksa ls vf/kd u gksA

(iv) iz'u la[;k 6 ls 10 y?kq mÙkj izdkj ds iz'u gSaA muesa izR;sd iz'u 2 vadksa dk gSA buesa

ls izR;sd dk mÙkj 50 'kCnksa ls vf/kd u gksA

(v) iz'u la[;k 11 ls 17 y?kq mÙkj izdkj ds iz'u gSaA buesa izR;sd iz'u 3 vadksa dk gSA buesa

ls izR;sd dk mÙkj 75 'kCnksa ls vf/kd u gksA

(vi) iz'u la[;k 18 ls 21 y?kq mÙkj izdkj ds iz'u gSaA buesa izR;sd iz'u 4 vadksa dk gSA buesa

ls izR;sd dk mÙkj 150 'kCnksa ls vf/kd u gksA

(vii) iz'u la[;k 22 ls 24 nh?kZ mÙkj izdkj ds iz'u gSaA buesa izR;sd iz'u 6 vadksa dk gSA buesa

ls izR;sd dk mÙkj 250 'kCnksa ls vf/kd u gksA

1. What is the result of applying knowledge, skills, competency and creativity
strategically for market-orientation ? 1

cktkjksUeq[khdj.k ds fy, tc Kku] dkS'ky] leFkZrk ,oa l`tukRed dk j.kuhfr dh n`f"V ls iz;ksx
fd;k tkrk gS rc mldk D;k ifj.kke gksrk gS \

2. Name the two factors that are involved in sensing opportunities. 1

lqvoljksa ds vkHkkl ls lfEefyr fdUgha nks ?kVdksa ds uke crkb,A

3. List the two important considerations for the purchase of materials. 1

lkexzh ds Ø; ds fy, /;ku nsus ;ksX; nks egRoiw.kZ rRoksa dh lwph cukb,A
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4. A company uses 300 units of an item per day and the order lead time is 5 days.

What should be the level of inventory when a new order is to be placed ? 1

,d dEiuh ,d en dh izfrfnu 300 bdkb;ksa dk mi;ksx djrh gS vkSj vfxze vkns'k le; 5 fnu

gSA LdU/k dk Lrj D;k gksuk pkfg, tc ,d u;k vkns'k fn;k tk, \

5. Avinash wants to open a tailoring shop in a colony. Name the suitable ‘pricing

method’ for providing his services. 1

vfouk'k ,d dkWyksuh esa nthZ dh nqdku [kksyuk pkgrk gSA mldh lsokvksa dks mi;qDr cukus ds fy,

mi;qDr ^ewY;&fu/kkZj.k* fof/k dk uke crkb,A

6. Why does an entrepreneur need feasibility plan ? Explain. 2

,d m|eh dks lEHkkO;rk ;kstuk dh vko';drk D;ksa gksrh gS \ le>kb,A

7. Why is a technical feasibility study essential ? Explain. 2

rduhdh&lEHkkO;rk v/;;u vko';d D;ksa gS \ le>kb,A

8. What is meant by ‘Innovation’ ? 2

^uoizorZu* ls D;k vfHkizk; gS \

9. Explain ‘Care to Ecology and Environment’ as a social responsibility of an

entrepreneur.  2

,d m|eh ds lkekftd mÙkjnkf;Ro ds :i esa ^ifjfLFkfrr&foKku ,oa i;kZoj.k ds izfr lko/kkuh*

dks le>kb,A

10. An entrepreneur decides to sell his woollen garments in the month of February

on discount. Name and explain the environmental factor which prompted

him to take this decision. 3

,d m|eh Qjojh ds eghus esa vius Åuh oL=kksa dks NwV ij cspuk pkgrk gSA okrkoj.k ds ml ?kVd

dk uke crkrs gq, le>kb,] ftlus mls ;g fu.kZ; ysus ds fy, izsfjr fd;kA
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11. Explain any three sources from which basic ideas emerge. 3

,sls fdUgha rhu lzksrksa dks le>kb, ftuls vk/kkjHkwr fopkjksa dh mRifÙk gksrh gS \

12. Explain the first three steps involved in the process of investigation of a feasible

product. 3

,d lEHkkO; mRikn dh [kkst esa vUrfuZfgr izfØ;k ds izFke rhu pj.kksa dks le>kb,A

13. State any three objectives of preparing a Project Report. 3

ifj;kstuk izfrosnu ¼fjiksVZ½ rS;kj djus ds fdUgha rhu mn~ns';ksa dk mYys[k dhft,A

14. Explain the uses of a Project Report for: 3

- an entrepreneur

- government

- financial institutions

,d ifj;kstuk&izfrosnu ¼fjiksVZ½ ds fuEufyf[kr ds fy, mi;ksx crkb, %

- ,d m|eh

- ljdkj

- foÙkh; laLFkk,a

15. List any six problems faced by first generation entrepreneurs. 3

izFke&ih<+h ds m|fe;ksa }kjk ftu leL;kvksa dk lkeuk fd;k tkrk gS] muesa ls fdUgha Ng dh lwph

cukb,A

16. Explain the term ‘Personal Financing’. 3

^O;fDrxr foÙkh;u* 'kCn dks le>kb,A
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17. Explain any two factors which affect the formulation of a financial plan. 3

,d foÙkh; ;kstuk ds fu:i.k dks izHkkfor djus okys fdUgha nks rRoksa dks le>kb,A

18. Explain any four decisions which have to be taken into considerations under the

head’Material Resources’. 4

^lkexzh&lalk/ku* 'kh"kZd ds vUrxZr /;ku esa j[kus ;ksX; fdUgha pkj fu.kZ;ksa dks le>kb,A

19. Name and explain the concept which states that a particular volume of production

of a firm neither makes a profit nor a loss. 4

ml vo/kkj.kk dk uke crkrs gq, mls le>kb, tks ;g crkrk gS fd mRiknu ds ,d fuf'pr Lrj

ij ,d QeZ dks u ykHk gksrk gS vkSj u gkfuA

20. State any four advantages of’Inventory Control’. 4

^LdU/k fu;U=k.k* ds fdUgha pkj ykHkksa dk mYys[k dhft,A

21. Differentiate between ‘Preference Shares’ and ‘Equity Shares’ on the basis

of: 4

(a) Voting Right

(b) Payment of Dividend

(c) Repayment of Capital

(d) Rate of Dividend

^iwokZf/kdkjh va'k* vkSj ^lerk va'k* esa fuEufyf[kr vk/kkjksa ij vUrHksZn dhft, %

¼v½ oksV nsus dk vf/kdkj

¼c½ ykHkka'k dk Hkqxrku

¼l½ iwath dh okilh

¼n½ ykHkka'k dh nj
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22. Explain any six ways in which ideas can be generated. 6

Or

Explain by giving any four points why ‘market-assessment’ is needed for an
entrepreneur ?

,sls fdUgha Ng rjhdksa dks le>kb, ftuls fopkjksa dh mRifÙk gks ldrh gSA

vFkokvFkokvFkokvFkokvFkok

,d m|eh dks ^cktkj&ewY;kadu* dh vko';drk D;ksa gksrh gS \ fdUgha pkj fcUnqvksa dh lgk;rk

ls le>kb,A

23. What is a ‘Feasibility Plan’ ? State any four features of a feasibility plan. 6

Or

What is meant by a ‘Project Report’ ? State any four elements of a project report.

,d ^lEHkkO;rk&;kstuk* D;k gS \ ,d lEHkkO;rk ;kstuk dh fdUgha pkj fo'ks"krkvksa dk mYys[k

dhft,A

vFkokvFkokvFkokvFkokvFkok

,d ̂ ifj;kstuk izfrosnu* ¼fjiksVZ½ ls D;k vfHkizk; gS\ ,d ifj;kstuk izfrosnu ds fdUgha pkj rRoksa

dk mYys[k dhft,A

24. Amir wants to buy raw materials from Vineet for his toy factory. He wants that
Vineet should take payment after three months. As per the prevailing practice in
this industry he can make payments within six months.

Name and explain the source of finance which Amir wants to use ? Also explain

two other sources of finance which he can have for availing this facility. 6

Or

Harish received an order amounting to Rs. 50,000 for supplying readymade 250
shirts within two months. He took Rs. 25,000 advance from the buyer.

Name and explain the source of finance Harish is using. Also explain two other
sources of finance he can avail in the same category of sources of finance.
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vehj viuh f[kykSuk QSDVh ds fy, fouhr ls dPpk eky [kjhnuk pkgrk gSA og pkgrk gS fd

fouhr bldk Hkqxrku rhu eghus ds ckn ysA m|ksx esa izpfyr izFkk ds vuqlkj og Ng eghus ds

vanj ;g Hkqxrku dj ldrk gSA

ml foÙkh; lzksr dk uke crkrs gq, mls le>kb, ftldk iz;ksx vehj djuk pkgrk gSA bl

lqfo/kk dks izkIr djus ds fy, og ftu vU; nks foÙkh; lzksrksa dk mi;ksx dj ldrk gS] mUgsa Hkh

le>kb,A

vFkokvFkokvFkokvFkokvFkok

gjh'k dks 50]000 #i, dk ,d vkns'k feyk] ftlesa mls nks eghus ds vUnj rS;kj 250 'kVZ dh

iwfrZ djuh FkhA mlus [kjhnnkj ls 25]000 #i, vfxze fy,A

gjh'k ftl foÙkh; lzksr dk mi;ksx dj jgk gS] mldk uke crkrs gq, mls le>kb,A blh oxZ ds

foÙkh; lzksr ds vUrxZr mlds }kjk mi;ksx fd, tk ldus okys fdUgha nks vU; lzksrksa dks Hkh

le>kb,A


